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1. BERBOL
(1) #BEUNE
D EARBEERIRG 120,000 135,000 15,000
@ Zm 2,200,000 2,165,000 A 35,000
® BEWE 0
BEBEINE 1,000,000 0 A 1,000,000
EEBRBZINE 430,000 420,000 A 10,000
ERY Iy 300,000 0 A 300,000
@ ZhmEHE 1,000,000 1,000,000 0
® Ui 300,000 415,014 115,014
REIRIEET 5,350,000 4,135,014 A 1,214,986
(2) B#E&R
D =xE
REEXE 1,000,000 165,968 A 834,032
LHRETEEE 300,000 513,880 213,880
HEIEREEE 1,300,000 127,731 A 1,172,269
PEDQFERREIEERE 430,000 257,290 A 172,710
GEHMEXIEEEE 320,000 58,337 A 261,663
BERYIVNEEE 600,000 0 A 600,000
ZTOMDABEEE 250,000 135,286 A 114714
EHEHEAEKAXE 450,000 517,323 67,323
REXBEXH 60,000 23,130 A 36,870
BIEEHREXH 225,000 148,269 A 76,731
HEREXH 75,000 135,884 60,884
EHRMERHZE 270,000 284,400 14,400
R—LR—TH B 240,000 240,000 0
SEEXL 112,500 19,587 A 92913
BREXL 37,500 19,800 A 17,700
FARARERZE 0 0 0
MEXWN 225,000 186,250 A 38,750
ZTOMOIRBEEXH 0 0 0
BEEE 5,895,000 2,833,135 A 3,061,865
Q@ gBE
EHEHEAKAXE 150,000 172,442 22,442
REXBEXH 20,000 7,710 A 12,290
BIEEHREXH 75,000 49,423 A 25577
HEREXH 25,000 45,295 20,295
EHEMERHXE 90,000 94,800 4,800
SEEXH 37,500 6,530 A 30,970
BREXL 12,500 6,600 A 5,900
HEXH 75,000 62,084 A 12916
ZDMOEEE RN 0 0 0
EEE 485,000 444,884 A 40,116
BEERE 6,380,000 3,278,019 A 3,101,981
LR E R A 1,030,000 856,995 1,886,995
2 EENMEROER
(1) #BESMNUE
E AR EF I 0 0 0
BEMRERE 0 0 0
(2) BENER
E AR EMEE 0 226,239 226,239
BEENER 0 226,239 226,239
LERRE SN SR 0 A 226,239 A 226,239
L HA— R IE KB4 FE LS B EE A 1,030,000 630,756 1,660,756
—REKRBESNE RS 9,090,000 8,438,329 A 651,671
—RIEKRBESDRES 8,060,000 9,069,085 1,009,085
I {EEERMEEROE
D ZmHEBEE 0 0 0
L HAtEE IERBAEEHE R AE 0 0 0
BEEKRMENREES 0 0 0
EEEKRMHESRES 0 0 0
I ERBAEEIRES 8,060,000 9,069,085 1,009,085
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